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1

-

(y) (x1) (x2) (x3)

1 8 2 3 2
2 4 2 2 3
3 5 3 2 2
4 2 1 1 2
5 6 2 2 2

… … … … …
… … … … …

133 3 2 1 3

–
2 – –

x1) (x2)

y) 0,64 0,74 0,23

41% 55% 5%

t 9,5 12,6 –
t 2,6 2,6 –

–
–

R). R = r2 100% r –
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r

(2)

t – -
t

(t -
xyr 143 .

2

2 ,
1 ( 1)( 1)

mnr
m n

(3)

2 –
m – ;
n – 139 .
1.

-

(m)

-

(y1)

-

(y2)

-

(y3) (y4)

(x1) – 4 12 6 22 0,375
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-

(m)

-

(y1)

-

(y2)

-

(y3) (y4)

– 16 144 36

– 0,25 4 4 8,25

(x2)

8 44 23 3 78

0,62

64 1936 529 9

2,66 30,25 14,69 1 48,6

(x3)

16 16 1 – 33

0,45

256 256 1 –

10,66 4 0,27 – 14,93

24 64 36 9 133 1,445

2.

3.
y1

4.
x1 0,25 + 4 + 4 = 8,25).
5.

x
14,93 : 33 = 0,45).

6. 375 + 0,62 + 0,45 = 1,445.
7. 2

1,445 1 0,445.
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8. 2 –
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(4)

f –

2 (3 1)(4 1)0,445 0,4
133
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9.
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2 2
1 2 1 2 1 2

1 2 2
1 2
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x x

r r r r r
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1 2

1 2 155
1 2

0,52.x xr

1 2

2 2

2

0,64 0,74 2 0,64 0,74 0,52 0,8,
1 0,52y x xR
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-

y = b0 + b1x – y = b0 + b1x + b2x –
b0 – b1 b2, –

241].
-

-
- -

y =
= –0,5 + 1,21x1 + 1,84x2 1

2
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3 4 5
0 0 0
0 0 3
0 0 6
0 1 0
0 14 10
0 2 9
7 11 1
7 30 4
0 4 0
11 5 0
4 0 0

-
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